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Note : Attempt both Part A and Part B.

PART A

1. Distinguish between any two of the following t 5+5

(a) Industry and Commerce

(b) Bulls and Bears

(c) Wholesaler and Retailer

(d) Pledgp and Hypothecation
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2. Write short notes on any two of the following :

(a) Memorandum of Association

tb) Retained profits as a source of finance

{c} Features of an ideal medium of advertising

{d} Containerisation

5+5

ECO- 1



PART B

Attempt sny three of the following questions.

3. "Partnership form of business organisations emerged

essentially becaus e of the limitations and failures of the sole
proprietorship organisations. " Discuss. 10

4. Explain various methods of raising short term capital. 10

5. Explain various factors to be kept in mind while deciding on

channels of distribution for a product. 10

' 6. What is insurance ? Explain various legal aspects of

2+8insurance.

7 . What is a public enterprise ? How is it different from private

enterprise ? Explain the characteristics of a public

enterprise. 2+3+5

8. (a) ''Expenditure on advertising is a social waste. ' '

Comment.

(b) State the main features of a public corporation . 5+5
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